7.4 Reasoning Using Slope Fields m
Calculus

The slope field from a certain differential equation is shown for each problem. The multiple choice
answers are either differential equations OR a specific solution to that differential equation.
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For each slope field, plot and label the points A and B and sketch the particular solution that passes
through each of those points. (Two separate solutions for each slope field.)
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Calculus

Write your questions
and thoughts here!

7.4 Reasoning Using Slope Fields

Identity the particular solution that goes through a point.
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3. (calculator not allowed)
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O 4. (calculator not allowed)
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Shown above is a slope field for which of the following differential equations?
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Which of the following is the solution to the differential equation ix—y =3cos (Zx) with the initial
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Calculus Maximus

WS 7.1: Slope Fields

For 7 — 12, match each slope field with the equation that the slope field could represent.
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Shown above is the slope field for which of the following differential equations?
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Calculus Maximus WS 7.1: Slope Fields  “_"

For 13 — 16, match the slope fields with their differential equations.
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17. The calculator-drawn slope field for the differential equation % = x + y is shown in the figure below.
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Calculus Maximus WS 7.1: Slope Fields

22. Which of the following differential equations would produce the slope field shown below?
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23. Which of the following differential equations would produce the slope field shown below?
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